
� No.254B余両方-5-1 �

No.254B余両方-5-1 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 621.31÷ 3.59 (2) 543.87÷ 6.02

(3) 99.171÷ 5.46 (4) 304.51÷ 83.5

(5) 9.0375÷ 0.253

� 13th-note �



� No.254B余両方-5-1 �

No.254B余両方-5-1 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 621.31÷ 3.59

173 · · · 0.24

(2) 543.87÷ 6.02

90.3 · · · 0.264

(3) 99.171÷ 5.46

18.1 · · · 0.345

(4) 304.51÷ 83.5

3.64 · · · 0.57

(5) 9.0375÷ 0.253

35.7 · · · 0.0054

� 13th-note �



� No.254B余両方-5-2 �

No.254B余両方-5-2 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 52÷ 0.397 (2) 73.774÷ 0.479

(3) 16.052÷ 7.97 (4) 75.418÷ 0.808

(5) 931.96÷ 4.29

� 13th-note �



� No.254B余両方-5-2 �

No.254B余両方-5-2 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 52÷ 0.397

130 · · · 0.39

(2) 73.774÷ 0.479

154 · · · 0.008

(3) 16.052÷ 7.97

2.01 · · · 0.0323

(4) 75.418÷ 0.808

93.3 · · · 0.0316

(5) 931.96÷ 4.29

217 · · · 1.03

� 13th-note �



� No.254B余両方-5-3 �

No.254B余両方-5-3 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 81.409÷ 0.609 (2) 23.29÷ 0.106

(3) 3.7819÷ 0.674 (4) 27.245÷ 3.35

(5) 151.15÷ 47.3

� 13th-note �



� No.254B余両方-5-3 �

No.254B余両方-5-3 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 81.409÷ 0.609

133 · · · 0.412

(2) 23.29÷ 0.106

219 · · · 0.076

(3) 3.7819÷ 0.674

5.61 · · · 0.00076

(4) 27.245÷ 3.35

8.13 · · · 0.0095

(5) 151.15÷ 47.3

3.19 · · · 0.263

� 13th-note �



� No.254B余両方-5-4 �

No.254B余両方-5-4 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 655.67÷ 3.97 (2) 849.24÷ 72.8

(3) 99.773÷ 4.14 (4) 60.911÷ 0.786

(5) 5.6753÷ 0.512

� 13th-note �



� No.254B余両方-5-4 �

No.254B余両方-5-4 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 655.67÷ 3.97

165 · · · 0.62

(2) 849.24÷ 72.8

11.6 · · · 4.76

(3) 99.773÷ 4.14

24.0 · · · 0.413

(4) 60.911÷ 0.786

77.4 · · · 0.0746

(5) 5.6753÷ 0.512

11.0 · · · 0.0433

� 13th-note �



� No.254B余両方-5-5 �

No.254B余両方-5-5 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 44.522÷ 8.28 (2) 5.7356÷ 0.584

(3) 3.8584÷ 0.867 (4) 7.2888÷ 0.481

(5) 445.37÷ 1.17

� 13th-note �



� No.254B余両方-5-5 �

No.254B余両方-5-5 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 44.522÷ 8.28

5.37 · · · 0.0584

(2) 5.7356÷ 0.584

9.82 · · · 0.00072

(3) 3.8584÷ 0.867

4.45 · · · 0.00025

(4) 7.2888÷ 0.481

15.1 · · · 0.0257

(5) 445.37÷ 1.17

380 · · · 0.77

� 13th-note �



� No.254B余両方-5-6 �

No.254B余両方-5-6 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 856.62÷ 0.985 (2) 597.65÷ 70.6

(3) 27.613÷ 4.41 (4) 14932÷ 30.2

(5) 3.416÷ 0.126

� 13th-note �



� No.254B余両方-5-6 �

No.254B余両方-5-6 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 856.62÷ 0.985

869 · · · 0.655

(2) 597.65÷ 70.6

8.46 · · · 0.374

(3) 27.613÷ 4.41

6.26 · · · 0.0064

(4) 14932÷ 30.2

494 · · · 13.2

(5) 3.416÷ 0.126

27.1 · · · 0.0014

� 13th-note �



� No.254B余両方-5-7 �

No.254B余両方-5-7 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 5942.6÷ 64.2 (2) 1.8989÷ 0.991

(3) 5676.6÷ 6.25 (4) 27.58÷ 9.91

(5) 2179.7÷ 2.91

� 13th-note �



� No.254B余両方-5-7 �

No.254B余両方-5-7 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 5942.6÷ 64.2

92.5 · · · 4.1

(2) 1.8989÷ 0.991

1.91 · · · 0.00609

(3) 5676.6÷ 6.25

908 · · · 1.6

(4) 27.58÷ 9.91

2.78 · · · 0.0302

(5) 2179.7÷ 2.91

749 · · · 0.11

� 13th-note �



� No.254B余両方-5-8 �

No.254B余両方-5-8 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 937.23÷ 0.974 (2) 459.03÷ 92.7

(3) 8.6493÷ 0.127 (4) 9672÷ 38.8

(5) 94.958÷ 2.44

� 13th-note �



� No.254B余両方-5-8 �

No.254B余両方-5-8 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 937.23÷ 0.974

962 · · · 0.242

(2) 459.03÷ 92.7

4.95 · · · 0.165

(3) 8.6493÷ 0.127

68.1 · · · 0.0006

(4) 9672÷ 38.8

249 · · · 10.8

(5) 94.958÷ 2.44

38.9 · · · 0.042

� 13th-note �



� No.254B余両方-5-9 �

No.254B余両方-5-9 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 27.068÷ 9.14 (2) 985.92÷ 5.79

(3) 96.32÷ 3.39 (4) 634.23÷ 4.92

(5) 196.62÷ 18.2

� 13th-note �



� No.254B余両方-5-9 �

No.254B余両方-5-9 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 27.068÷ 9.14

2.96 · · · 0.0136

(2) 985.92÷ 5.79

170 · · · 1.62

(3) 96.32÷ 3.39

28.4 · · · 0.044

(4) 634.23÷ 4.92

128 · · · 4.47

(5) 196.62÷ 18.2

10.8 · · · 0.06

� 13th-note �



� No.254B余両方-5-10 �

No.254B余両方-5-10 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 818.78÷ 2.08 (2) 940.24÷ 91.6

(3) 375.83÷ 74.6 (4) 73.147÷ 6.85

(5) 1785÷ 9.01

� 13th-note �



� No.254B余両方-5-10 �

No.254B余両方-5-10 （ 点） （ 分 秒）

商を上から 3けた計算し、余りがあれば余りも答えなさい。（１問 20点）

(1) 818.78÷ 2.08

393 · · · 1.34

(2) 940.24÷ 91.6

10.2 · · · 5.92

(3) 375.83÷ 74.6

5.03 · · · 0.592

(4) 73.147÷ 6.85

10.6 · · · 0.537

(5) 1785÷ 9.01

198 · · · 1.02

� 13th-note �


